Lecture 3
1-because of the Civil War thinkers preferred ?
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2- because Germany and France didn't experience the Civil War the tended to be?
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3- The movements in Europe lead to?
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4- The movements in England lid to?
More moderation and stability
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5- John Locke was?
philosopher, politician and enlightenment thinker.
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6- John Locke is considered?
The father of liberalism
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7-17th century and 18th century European movement of the suit that saw human reason and and
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8- Empiricism means ?
Getting theories from observable facts
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9- The roots of the enlightenment are?
from Islamic sinkers and ideas
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10- A political philosophy founded on the idea of liberty freedom and equality?
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11- John Locke thinks that?
There must be a just law that everybody in the society should obey
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12- what are the major thoughts of John Locke?
Freedom of religion, private property and a just law
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13- A lot of British thoughts were a reaction to
The idea of European Tyranny . ) . .
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14- according to John Locke the purpose of law is?
To protect freedom
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15- according to John Locke when law ends?

Tyranny begins . i .
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أريج
بسبب المفكرين الحرب الأهلية المفضلة؟ الأفكار المعتدلة

أريج
لأن ألمانيا وفرنسا لم تشهد الحرب الأهلية وتميل إلى أن تكون؟ أقصى

أريج
حركات في أوروبا تؤدي إلى؟ ثورة

أريج
الحركات في انكلترا غطاء ل؟ المزيد من الاعتدال والاستقرار

أريج
وكان جون لوك؟ فيلسوف، سياسي ومفكر التنوير.

أريج
يعتبر جون لوك؟ والد الليبرالية

أريج
القرن ال17 والحركة الأوروبية في القرن ال18 للدعوى التي شهدت العقل البشري والتجريبيه وباعتبارها السبيل للحصول على الحقيقة. حركة التنوير

أريج
الوسائل التجريبية؟ الحصول على النظريات من الحقائق الملاحظة

أريج
جذور التنوير هي؟ من الغطاسون والأفكار الإسلامية

أريج
فلسفة سياسية تأسست على فكرة الحرية الحرية والمساواة؟ الليبرالية

أريج
جون لوك يعتقد ذلك؟ يجب أن يكون هناك قانون للتو أن الجميع في المجتمع يجب أن تطيع

أريج
ما هي الأفكار الرئيسية لجون لوك؟ حرية الدين، والملكية الخاصة وقانون عادل

أريج
وهناك الكثير من الأفكار البريطانية كانت رد فعل لفكرة الاستبداد الأوروبي

أريج
وفقا لجون لوك عندما ينتهي القانون؟ يبدأ الطغيان

أريج
وفقا لجون لوك الغرض من القانون هو؟ لحماية حرية


16- according to John Locke when there is no law?
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17-The events of the Civil War and the contribution of different thinkers led English thought that
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18- The most important work of Jones lock is?
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أريج
وفقا لجون لوك عندما لا يكون هناك قانون؟ ليس هناك حرية

أريج
وأدت أحداث الحرب الأهلية ومساهمة المفكرين مختلفة يعتقد الإنجليزية التي تميزت بها؟ الليبرالية، التسامح الديني وسيادة القانون

أريج
أهم الأعمال من قفل جونز هو؟ معاهدتين على الحكومة

أريج
اعداد / هايدي


